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Zahl geht max. bis 100.

T73 - { 1, 73}
Ts = {1,2 3,5,6, 10, 15, 30 }
T2 = { 1, 2}

Teo = {1,2 3,4,5,6, 10, 12, 15, 20, 30, 60 }
T = {1,3,5,15, 25, 75}

Too = {1,2,3,5,6,9, 10, 15, 18, 30, 45, 90 }
Tos = {1,3,31,93}

Tos = {1,2, 47,94}

Tg7 = {1,97}

Tog = {1,2, 4,7, 14,28}

T = {1,2,4,8,16}

Tes = {1,2 4,8, 11,22, 44, 88}

T = {1,2 4,8, 16,32}

Ta = {1,41}

T83 — { 1, 83}
T76 - { 1, 2, 4, 19, 38, 76}
T13 = { 1, 13}

Teo = {1,2,5, 10, 25,50}
Tss = {1,219, 38}

Ta, = {1,31}

T, = {1,2, 11,22}

Tg; = {1,3,9,27,81)
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